
F[`mâÑ aÞ]ÔÐ`ÑW hÍwÐaórÞ `eÑlÐ 

Ò$aóAeÑ 16, 2020 

`Í\c `dÔàÐ¯ - NZÞ[ 

jc¯-1O 15cÞ     `ËÀà jÕMÔÐ-100 

`ÍÒ[ÔL Í̀hðe cËmÔ 10 _cée 

(1) (L) 231 e jaÊWÊ jÐ_ [ÞÒ_ÐVÞ ÒcßÐfÞL jÕMÔÐe jc½Þ ÒLÒ[? (M) jÐ_eÊ aX LÍÒc jSÐB ÒmM: 

 

(2) QÐeÞ @* aÞhÞ½ HL jÕMÔÐe ]hL Oe @* HLL Oe @*e 2 NÊZ Ð h[L Oe @* ]hL Oe @*e 3 NÊZeÊ 1 Lc,  J jkjÍ Oe 

@ÕL ]hL Oe @*e QÐeÞNÊZ Ð d]Þ @* NÊXÞLe ÒdÐN$f 16 kÊH, Ò[Òa jÕMÔÐVÞ ÒLÒ[? 

 

(3) b¦ ÒNÐÒV akÞLÊ 50 V*Ð J ÒNÐÒV LmcLÊ 30 V*Ð kÞjÐaÒe LÞZÞmÐ Ð d]Þ Òj 740 V*ÐÒe jcÊ]Ð¯ 20 VÞ akÞ J Lmc LÞZÞ\ÐH, 

Ò[Òa Òj ÒLÒ[M¨ akÞ LÞZÞÞ\ÞmÐ? 

 

(4) ]ÊBVÞ jÕMÔÐ c^ÔÒe aX jÕMÔÐ jÐ_ jÕMÔÐe 2 1/3 NÊZ Ð d]Þ ÒjcÐ_*e N.jÐ.NÊ. 7 kÊH Ò[Òa jÕMÔÐ ]ÊBVÞ yÞe Le Ð 

 

(5) ÒNÐÒV aÞ]ÔÐf¯e iº, j©c J @½c ÒhÍZÑe Þ̀mÐ jÕMÔÐ d\ÐLÍÒc 150, 85 J 100 Ð d]Þ ÒNÐÒV aªÐ aeÒLÐfÞ iº ÒhÍZÑÒe 

aÃÐdÐH, 87VÞ ÒLÐfÞ afÞ̀ XÞa; d]Þ j©c ÒhÍZÑÒe aÃÐdÐH, 22VÞ ÒLÐfÞ afÞ̀ XÞa; d]Þ @½c ÒhÍZÑÒe aÃÐdÐH, 37VÞ ÒLÐfÞ afÞ̀ XÞa Ð 

[ÐÒkÒm aªÐÒe ÒLÒ[ÐVÞ ÒLÐfÞ \ÐB`ÐÒe? 

 

(6) (L)  s [6] e @\à 6 e NÊZ_Ñ¯L NÊXÞLe jc½Þ Ð D]ÐkeZ: s[6] = 1+2+3+6 =12   

[ÐÒkÒm s [s [13] ] e cËmÔ ÒLÒ[? 

(M) ÒNßÐVÞH aNÞQÐLÊ ]ÊBVÞ aNàÒl[Í (ABCD J CDEF) HaÕ ÒNÐVÞH A¯[Òl[Í (BGHF) Òe bÐN LeÐdÐBRkÞ Ð  

Ê̂jeÞ[ @Õhe Òl[Í$f aÐkÐe Le Ð 

 

 

 

 

 

  

(7 ) jÊÒeh ÒNÐÒV LÐce 3/5 @ÕhLÊ 10 ]Þ_Òe LeÞ QÐmÞNmÐ Ð @ahÞ½ LÐcLÊ sÐ_ 7 ]Þ_Òe jÐeÞmÐ Ð d]Þ ]ÊB SZ Í̀\ceÊ jÐ= ÒkÐB 

LÐc LeÞ\ÐÒ« Ò[Òa ÒLÒ[]Þ_ mÐNÞ\Ð«Ð? 

 

(8) d]Þ F[`mâÑÒe 30% Þ̀mÐ aÕhÑaÐ]_ hÞM«Þ, 40% Þ̀mÐ [amÐ hÞM«Þ, HaÕ 20% Þ̀mÐ Db¯ hÞM«Þ, [ÐÒkÒm h[LXÐ ÒLÒ[ `ÞmÐ 

aÕhÑ LÞ [amÐ hÞM«Þ _ÐkÞÜ ? 

 

(9) SÒZ VÞbÞ Ò]ÐLÐ_Ñ 25000 V*ÐÒe VÞbÞ LÞZÞÒm Ð Òj aÞLÍÑcËmÔ ÒLÒ[ ÒmMÞÒm, [Ð D`Òe 25% RÐX Ò]BaÞ 25% mÐb LeÞÒa? 

 

(10) eZSÞ[ J QÞ_ê̄ * kÐeÐkÐeÞ a¯j 22 aià, QÞ_ê¯ J _Þe&_* kÐeÐkÐeÞ a¯j 29 aià HaÕ _Þe&_ J eZSÞ[*  kÐeÐkÐeÞ a¯j 

24 aià ÒkÒm LÐkÐe a¯j ÒLÒ[? 

S1 

9 2.2
, , 8%, 0.818

11 3

A D E 

B C F 

G H 

12 m 
64 m2 64 m2 



1. (a) Find the sum of the three smallest prime factors of 231. 
 (b) Rearrange the numbers from the smallest to the largest:  
 
 
 
2. The tens place digit of a four-digit number is twice the units place digit. The hundreds place digit 

is one less than three times the tens place digit. The thousands place digit is four times the tens 
place digit. If the sum of the four digits is 16, then what is that 4-digit number? 
 

3. The price of a book and a pen is 50 Rs and 30 Rs, respectively. If Bhakta bought a total of twenty 
books and pens for 740 Rs, then how many books did he buy? 
 

4. One number is 2 1/3 times bigger than the other number. If their GCD is 7, then find the two 
numbers. 

5. The number of students in class 6, 7 and 8 of a school are 150, 85, and 100, respectively. If a 
bagful of barakolis are distributed in class 6, then 87 barakolis are left over; if distributed in class 
7, then 22 barakolis are left over; if distributed in class 8, then 37 barakolis are left over. How 
many barakolis are there in the bag?  
 

6. (a)If we write s [6], it means the sum of all divisors (factors) of 6.  

 For example: s[6] = 1+2+3+6 =12. Find the value of s [s [13] ]. 

 

 (b) A plot is divided into two square plots (ABCD & CDEF)  

 and a rectangular plot (BGHF).  Find the area of the shaded region. 

 

 

 

 

 
7. Suresh finished 3/5th of a work in 10 days. The rest of the work was done by Jnana (sÐ_) in 7 days. 

How many days would it take both of them to finish the complete work, if they started working 
together? 

8. If 30% students at Rtapalli Vidyapitha play the flute, 40% students play tabla, and 20% students play both 
flute and tabla, then what percentage of students do not play either of the instruments? 
 

9. A shopkeeper bought a TV for 25000 Rs. What price  must he put on the TV sticker so that even if he gives 
25% discount he will still get a profit of 25% ? 
 

10. If the average age of Ranjit and Chinmay is 22,  the average age of Chinmay and Niranjan is 29, and the 
average age of Niranjan and Ranjit is 24, then how old are they? 

S1 Rtapalli Vidyapitha Shraddha Scholarship Examination 

February 16, 2020 

Subject- Mathematics, Phase I 
 

Time – 1h 15m                                                                                                              F.M. – 100 

Each question is worth 10 points. 
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F[`mâÑ aÞ]ÔÐ`ÑW hÍwÐaórÞ `eÑlÐ 

Ò$aóAeÑ 16, 2020 

`Í\c `dÔàÐ¯ - NZÞ[ 

jc¯-1O 15cÞ     `ËÀà jÕMÔÐ-100 

`ÍÒ[ÔL Í̀hðe cËmÔ 10 _cée 

(1) (L) 330 e jaÊWÊ aX [ÞÒ_ÐVÞ ÒcßÐfÞL jÕMÔÐe jc½Þ ÒLÒ[? (M) jÐ_eÊ aX LÍÒc jSÐB ÒmM: 

 

(2) QÐeÞ @* aÞhÞ½ HL jÕMÔÐe ]hL Oe @* h[L Oe @*e 3 NÊZ Ð HLL Oe @* jkjÍ Oe @*e 4 NÊZ Ð h[L Oe @ÕL jkjÍ 

Oe @*WÊ 1 ÒahÑ Ð d]Þ @*NÊXÞLe ÒdÐN$f 22 kÊH, Ò[Òa jÕMÔÐVÞ ÒLÒ[? 

 

(3) b¦ ÒNÐÒV akÞLÊ 50 V*Ð J ÒNÐÒV LmcLÊ 30 V*Ð kÞjÐaÒe LÞZÞmÐ Ð d]Þ Òj 740 V*ÐÒe jcÊ]Ð¯ 18 VÞ akÞ J Lmc LÞZÞ\ÐH, 

Ò[Òa Òj ÒLÒ[M¨ akÞ LÞZÞÞ\ÞmÐ? 

 

(4) ]ÊBVÞ jÕMÔÐ c^ÔÒe aX jÕMÔÐ jÐ_ jÕMÔÐe 2 2/3 NÊZ Ð d]Þ ÒjcÐ_*e N.jÐ.NÊ. 7 kÊH Ò[Òa jÕMÔÐ ]ÊBVÞ yÞe Le Ð 

 

(5) ÒNÐÒV aÞ]ÔÐf¯e iº, j©c J @½c ÒhÍZÑe Þ̀mÐ jÕMÔÐ d\ÐLÍÒc 150, 85 J 100 Ð d]Þ ÒNÐÒV aªÐ aeÒLÐfÞ iº ÒhÍZÑÒe 

aÃÐdÐH, 78VÞ ÒLÐfÞ afÞ̀ XÞa; d]Þ j©c ÒhÍZÑÒe aÃÐdÐH, 13VÞ ÒLÐfÞ afÞ̀ XÞa; d]Þ @½c ÒhÍZÑÒe aÃÐdÐH, 28VÞ ÒLÐfÞ afÞ̀ XÞa Ð 

[ÐÒkÒm aªÐÒe ÒLÒ[ÐVÞ ÒLÐfÞ \ÐB`ÐÒe? 

 

(6) (L)  s [6] e @\à 6 e NÊZ_Ñ¯L NÊXÞLe jc½Þ Ð D]ÐkeZ: s[6] = 1+2+3+6 =12   

[ÐÒkÒm s [s [11] ] e cËmÔ ÒLÒ[? 

(M) ÒNßÐVÞH aNÞQÐLÊ ]ÊBVÞ aNàÒl[Í (ABCD J CDEF) HaÕ ÒNÐVÞH A¯[Òl[Í (BGHF) Òe bÐN LeÐdÐBRkÞ Ð  

Ê̂jeÞ[ @Õhe Òl[Í$f aÐkÐe Le Ð 

 

 

 

 

 

  

(7 ) jÊÒeh ÒNÐÒV LÐce 3/5 @ÕhLÊ 5 ]Þ_Òe LeÞ QÐmÞNmÐ Ð @ahÞ½ LÐcLÊ sÐ_ 7 ]Þ_Òe jÐeÞmÐ Ð d]Þ ]ÊB SZ Í̀\ceÊ jÐ= ÒkÐB 

LÐc LeÞ\ÐÒ« Ò[Òa ÒLÒ[]Þ_ mÐNÞ\Ð«Ð? 

 

(8) d]Þ F[`mâÑÒe 30% Þ̀mÐ aÕhÑaÐ]_ hÞM«Þ, 35% Þ̀mÐ NÑ[ hÞM«Þ, HaÕ 25% Þ̀mÐ Db¯ hÞM«Þ, [ÐÒkÒm h[LXÐ ÒLÒ[ `ÞmÐ 

aÕhÑ LÞ NÑ[ hÞM«Þ _ÐkÞÜ ? 

 

(9) SÒZ VÞbÞ Ò]ÐLÐ_Ñ 25000 V*ÐÒe VÞbÞ LÞZÞÒm Ð Òj aÞLÍÑcËmÔ ÒLÒ[ ÒmMÞÒm, [Ð D`Òe 15% RÐX Ò]BaÞ 15% mÐb LeÞÒa? 

 

(10) jÑéLó[Þ J ÒSÔÐjðÐ* kÐeÐkÐeÞ a¯j 31 aià, ÒSÔÐjðÐ J ÒjßÐeb* kÐeÐkÐeÞ a¯j 29 aià HaÕ ÒjßÐeb J jÑéLó[Þ* kÐeÐkÐeÞ a¯j 

27 aià ÒkÒm LÐkÐe a¯j ÒLÒ[? 

S2 

5 2.2
,0.414, , 4%

12 5

A D E 

B C F 

G H 

15 m 
81 m2 81 m2 


